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5510 JbiiE /—ERXS3— MY iRR

J—EZX 1000m

JiEfz No K% FRiE i fmE
1 35 SH #BE ALARNER(55F) 1.55.410
2 33 ek = BIBINERR (35F) 1.56.440
3 137 EH =X BRl/NVER(55F) 1.57.230
4 37 MA URrE iB)IZE—R27—MMERI(5€E)  1.58.910
5 134 BEH B BE2E-R27-MMEEI(6%E)  2.00.690
6 133 [a[Ep 12k EBERNER(44F) 2.01.280
7 135 5EK PEKED iBIZE—R2r—MMERI(64E)  2.01.500
8 34 HM B iBIZE—R2r—MMERI(44E)  2.01.610
9 38 mEd BXR #BJIZE—R2r— MM EF(5€E)  2.05.870
10 36 SH Tk ALARINVER(3EE) 2.10.430
11 31 /)85 &TE Vortex(64F) 2.11.540
12 131 2 £ Vortex(54) 2.20.370
13 136 Kl mEE T EBINERR(2£F) 2.27.340
14 40 HEAEZB BIFH AT — MR (24F) 2.33.070
15 39 7RMmE <5 #BIIZE—R2r— MM ER(2€E)  2.45.190
16 138 FEEb HE #BIZE—R2r—MMERI(24E)  2.58.780
17 32 fl #E% Vortex(54) 3.06.400
18 132 FBf ZF— Vortex(24F) 3.15.760




